

n

WORLD CARE CHARITY

ABOUT US



World Care Charity is an charitable organization whose purpose is to give money, food, or help to those who need it, or to carry out activities such as medical research that will help people in need. Fixing, helping, and serving are all acts of being charitable in different ways. What is most important is to offer up compassion, uplift the people, accepting people exactly where they are in their life.

Society and government aren't set up to protect everyone who needs it. That's why World Care charities are here to fill the gaps and provide dedicated resources to help the most vulnerable.





OUR VISION

01

PROJECT BRIEFING

"Our vision is a world in which all children and young people in Kenya live with dignity, hope, and opportunity to fully participate in society"



"We seek a world of hope, tolerance and social justice, where poverty has been overcome and all people live in dignity and security"

03

DEVELOPMENT

"A world in which every person enjoys all of the human rights enshrined in the Universal Declaration of Human Rights and other international human rights standards"

www.worldcarecharity.com



02

LAUNCH

"Our vision is a world where the diversity of life thrives, and people act to conserve nature for its own sake and its ability to fulfil our needs and enrich our lives"

ABOUT TRON COIN

What is Tron (TRX)? TRON (TRX) is an open-source blockchain platform that can run smart contracts and be used for building decentralized apps (dApps). It's similar in functionality to Ethereum (ETH), and it even started out as a token built on Ethereum until switching to its own blockchain. According to your price prediction input for TRON, the value of TRX may increase by +5% and reach \$ 0.188716 by 2030..





PACKAGE & TYPES OF INCOME





3. TRX Rewards OR TRX Gift

LEVEL INCOME – 500 TRX DISTRIBUTION UNLIMITED DIRECT CAN BE DONE

SR. NO.	NO. OF LEVEL	TRX PER LEVEL
1	1 ST LEVEL	100 TRX
2	2 ND LEVEL	50 TRX
3	3 RD LEVEL	25 TRX
4	4 TH LEVEL	25 TRX
5	5 [™] LEVEL	25 TRX
6	6 TH LEVEL	25 TRX
7	7 [™] LEVEL	25 TRX
8	8 [™] LEVEL	25 TRX
9	9 [™] LEVEL	25 TRX
10	10 TH LEVEL	75 TRX

0







PROJECTION OF EXAMPLE



If you make 4 direct members and all those 4 members make 4 direct members of their own, then everyone gets huge income



SR. NO.	NO. OF MEMBERS	INCOME PER MEMBER TRX	TOTAL INCOME TRX
1	4	100 TRX	400
2	16	50 TRX	800
3	64	25 TRX	1,600
4	256	25 TRX	6,400
5	1,024	25 TRX	25,600
6	4,096	25 TRX	1,02,400
7	16,384	25 TRX	4,09,600
8	65,536	25 TRX	16,38,400
9	2,62,144	25 TRX	65,53,600
10	10,48,576	75 TRX	7,86,43,200







SR. NO.	ON EARNING TRX	GIFT OR REWARDS TRX	TIME PERIOD DAY'S
1	2,000	200	JOIN OF 10 DAY'S
2	3,000	400	NEXT 20 DAY'S
3	4,000	800	NEXT 30 DAY'S
4	16,000	1,600	NEXT 40 DAY'S
5	64,000	6,400	NEXT 50 DAY'S
6	1,28,000	12,800	NEXT 60 DAY'S
7	2,56,000	25,600	NEXT 70 DAY'S
8	5,12,000	51,200	NEXT 80 DAY'S
9	10,24,000	1,02,400	NEXT 90 DAY'S
10	20,66,000	2,06,600	NEXT 100 DAY'S







TERMS & CONDITIONS

- World Care Charity is an charitable organization
- Smart Contract Project, Deployed on TRON Block chain
- Withdrawal can be transferred within 24 Hours.
- Unlimited Directs Can done.
- TRX Value is depends on market, Package amount is aldo subjected on market price of TRX
- For more terms and conditions please visit our site.

$\bigcirc \bullet \bullet \bullet \bigcirc \bullet \bullet$



